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15. (a) �89 (b) x2 + 3
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17. (a) �3 � x � 1 (b) x < 2
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or x � 1 (c) all x

18. (a) 3 � x � 5 (b) 2 or �6
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19. (a) 7x+ 3y = 2 (b) 3x+ 2y = 1 (c) y = 3

20. (a) (2;�1) (b)
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21. (a) (x� 1)2 + (y � 2)2 = 18 (b) (x� 1
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22. (a) centre = (�3; 2) radius = p
10 (b) x+ 3y = 13.

23. (a) 9 (b) (x� 5)2 + (y � 3)2 = 25

24. 8x2 � 38x+ 8y2 + 20y + 43 = 0 (a circle).

25. (a) x < �2 or x > 1 (b) i. D: all numbers, R: f7g ii. D: all numbers except �1
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26. D: all numbers except 0; Range: f1;�1g
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31. (a) y = x2 � 3x+ 2 (b) y = x(x2 + 3x+ 3)(x + 1)3 (c) x2 + y2 = 1
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32. (a) f�1(x) =
x� 3
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34. (a) x = t
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36. (a) 1 = cos(x� x) = : : : (b) Use D. (c) Use C. (d) Use (c) then (a).

(e) Substitute x
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into (d). (g) Substitute x

2
into (e).
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